BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LAKESIDE BAYOU SECTION 3
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53
CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS
FEBRUARY 1, 2024
LJA ENGINEERING, INC.
S. YOUNG
FEBRUARY 1, 2024
1367-2913D (9.2)

## TOTAL AMOUNT BID

BIDDER'S NAME

1) BLAZEY CONSTRUCTION SERVICES LLC

\$1,456,280.40

2) PRINCIPAL SERVICES, LTD

\$1,559,675.00

3) TEXAS KB UTILITIES, LLC

\$1,621,000.00

JORDAN W. IVES

149588

CENSE
O2/02/2024

I, JORDAN IVES, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LAKESIDE BAYOU SECTION 3 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53 CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC. S. YOUNG

			1	1) BLAZEY CONSTRUCT	TION SERVICES LLC	2) PRINCIPAL S	ERVICES, LTD	3) TEXAS KB U	TILITIES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS									
	PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL ENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, PLACE	LF	3220	\$37.80	\$121,716.00	\$35.00	\$112,700.00	\$42.65	\$137,333.00
	RPIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL IENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, PLACE	LF	84	\$110.00	\$9,240.00	\$109.00	\$9,156.00	\$45.30	\$3,805.20
	PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL ENDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, PLACE	LF	323	\$28.00	\$9,044.00	\$30.00	\$9,690.00	\$31.85	\$10,287.55
	RPIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL IENDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, PLACE	LF	158	\$20.00	\$3,160.00	\$22.00	\$3,476.00	\$23.50	\$3,713.00
	「UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE EAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$6,393.00	\$51,144.00	\$6,191.00	\$49,528.00	\$6,425.00	\$51,400.00
MINIMUM 4'X4'	JSHING HYDRANT & GATE VALVE PER DETAIL IN PLANS, INCLUDES CONCRETE BLOCK, 2' GALVANIZED SUPPLY PIPE, SSARY FITTINGS, ADAPTERS, AND CONNECTORS, PLACE.	EA	1	\$5,543.00	\$5,543.00	\$6,897.00	\$6,897.00	\$5,960.00	\$5,960.00
	OUBLE OR SINGLE SERVICE, WATER SERVICE INCLUDES METER OP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN	EA	26	\$1,487.00	\$38,662.00	\$1,500.00	\$39,000.00	\$1,640.00	\$42,640.00
	OUBLE OR SINGLE SERVICE, WATER SERVICE INCLUDES FURB STOP, ALL NECESSARY CONNECTORS AND TAPS, PLACE	EA	36	\$1,790.00	\$64,440.00	\$2,500.00	\$90,000.00	\$2,955.00	\$106,380.00
9 8" AWWA GAT	E VALVE AND BOX, COMPLETE IN PLACE	EA	-11	\$1,901.00	\$20,911.00	\$1,894.00	\$20,834.00	\$1,960.00	\$21,560.00
10 6" AWWA GAT	E VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$1,275.00	\$1,275.00	\$1,260.00	\$1,260.00	\$1,335.00	\$1,335.00
	TING 8" PLUG AND CLAMP AND 2" BLOW OFF, VALVE, I PROPOSED WATER LINE, COMPLETE IN PLACE	EA	2	\$1,009.00	\$2,018.00	\$640.00	\$1,280.00	\$520.00	\$1,040.00
	CLAMP WITH 2" BLOW OFF VALVE AND X, COMPLETE IN PLACE	EA	1	\$1,127.00	\$1,127.00	\$1,079.00	\$1,079.00	\$575.00	\$575.00
	TY SYSTEM FOR WATER LINE, INCLUDES ALL DS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6362	\$0.30	\$1,908.60	\$0.10	\$636.20	\$0.10	\$636.20
	OF WATER LINE WORK (TO BE USED ONLY BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$28.00	\$2,800.00	\$1.00	\$100.00	\$0.01	\$1.00
STRIPPING, ST STANDARD PF	S, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES OCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% OCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND ON OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$887.00	\$887.00	\$500.00	\$500.00	\$11,525.00	\$11,525.00
WATER ITEMS SUBTOTAL:					\$333,875.60		\$346,136.20		\$398,190.95
SANITARY SEWER IT	TEMS								
	R PIPE, ASTM D-2241, SDR 26, 0'-8' CUT, EDDING AND BACKFILL, COMPLETE IN PLACE	LF	3459	\$40.80	\$141,127.20	\$58.00	\$200,622.00	\$48.15	\$166,550.85
	R PIPE, ASTM D-2241, SDR 26, 8'-12' CUT, EDDING AND BACKFILL, COMPLETE IN PLACE	LF	352	\$44.00	\$15,488.00	\$58.00	\$20,416.00	\$48.15	\$16,948.80

FEBRUARY 1, 2024

1367-2913D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LAKESIDE BAYOU SECTION 3
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53
CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS
FEBRUARY 1, 2024
LJA ENGINEERING, INC.
S. YOUNG
FEBRUARY 1, 2024

			1) BLAZEY CONSTRUCTION SERVICES			2) PRINCIPAL SEI	RVICES, LTD	3) TEXAS KB UT	3) TEXAS KB UTILITIES, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
3 S (0	TANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, -8' DEPTH), INCLUDES ADJUSTMENTS AND RAVEN LINER COATING, COMPLETE PLACE	EA	26	\$4,854.00	\$126,204.00	\$8,450.00	\$219,700.00	\$4,565.00	\$118,690.00	
	(TRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, IVER 8' DEPTH), COMPLETE IN PLACE	VF	2	\$231.00	\$462.00	\$321.00	\$642.00	\$155.25	\$310.50	
IN S	ONG SIDE DOUBLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, CLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, FACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL EPTHS, COMPLETE IN PLACE	EA	21	\$2,829.00	\$59,409.00	\$2,839.00	\$59,619.00	\$4,025.00	\$84,525.00	
PI W	HORT SIDE DOUBLE 6" PVC SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, YE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE PLACE	EA	33	\$1,642.00	\$54,186.00	\$1,915.00	\$63,195.00	\$1,645.00	\$54,285.00	
PI W	ONG SIDE SINGLE 4" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, YE, PLUG, MARKERS, AND ANY NECESSARY FITTINGS, ALL DEPTHS, OMPLETE IN PLACE	EA	1	\$2,746.00	\$2,746.00	\$1,877.00	\$1,877.00	\$3,040.00	\$3,040.00	
IN S	HORT SIDE SINGLE 4" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, CLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, FACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL EPTHS, COMPLETE IN PLACE	EA	5	\$1,642.00	\$8,210.00	\$1,133.00	\$5,665.00	\$945.00	\$4,725.00	
	EMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT ROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$788.00	\$1,576.00	\$142.00	\$284.00	\$520.00	\$1,040.00	
	RENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES LL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	5456	\$0.30	\$1,636.80	\$0.10	\$545.60	\$0.10	\$545.60	
	EWATERING OF SANITARY SEWER LINE WORK, (TO BE USED NLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$28.00	\$2,800.00	\$1.00	\$100.00	\$0.01	\$1.00	
U	DDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR NSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED Y THE ENGINEER), COMPLETE IN PLACE	LF	100	\$17.00	\$1,700.00	\$10.00	\$1,000.00	\$0.01	\$1.00	
0	DEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES CLEANING F ALL LINES AND DIGITAL COPY OF VIDEOS, (AS DIRECTED BY ENGINEER). DMPLETE IN PLACE	LF	3811	\$2.40	\$9,146.40	\$0.10	\$381.10	\$2.90	\$11,051.90	
O C 8"	ANITARY SEWER UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL NSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND DMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, DMPLETE IN PLACE	LS	1	\$2,483.00	\$2,483.00	\$500.00	\$500.00	\$11,525.00	\$11,525.00	
SANITAI	RY SEWER ITEMS SUBTOTAL:				\$427,174.40		\$574,546.70		\$473,239.65	
DRAINA	GE FACILITIES ITEMS									
	" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES EDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	510	\$75.00	\$38,250.00	\$90.00	\$45,900.00	\$104.45	\$53,269.50	
	" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES EDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	687	\$88.00	\$60,456.00	\$87.00	\$59,769.00	\$103.50	\$71,104.50	
	" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES EDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	877	\$109.00	\$95,593.00	\$112.00	\$98,224.00	\$126.90	\$111,291.30	

1367-2913D (9.2)

FRN F-1386 LJA Engineering, Inc.

**BID OPENING DATE:** BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LAKESIDE BAYOU SECTION 3 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53 CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC. S. YOUNG FEBRUARY 1, 2024

				1) BLAZEY CONSTRUCT	TION SERVICES LLC	2) PRINCIPAL SE	2) PRINCIPAL SERVICES, LTD		3) TEXAS KB UTILITIES, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
	I SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	432	\$151.00	\$65,232.00	\$166.00	\$71,712.00	\$169.95	\$73,418.40	
	I SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	642	\$206.00	\$132,252.00	\$223.00	\$143,166.00	\$219.00	\$140,598.00	
	I SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES IND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	142	\$257.00	\$36,494.00	\$276.00	\$39,192.00	\$257.95	\$36,628.90	
	REINFORCED CONCRETE TYPE "H-2" INLET, INCLUDES TECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, E IN PLACE	EA	24	\$1,702.00	\$40,848.00	\$1,439.00	\$34,536.00	\$1,175.00	\$28,200.00	
	REINFORCED CONCRETE TYPE "H-2" INLET, IS, COMPLETE IN PLACE	EA	24	\$1,412.00	\$33,888.00	\$2,400.00	\$57,600.00	\$2,040.00	\$48,960.00	
	ED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND INCLUDES ADJUSTMENTS, ALL DPETHS, COMPLETE IN PLACE	EA	17	\$3,925.00	\$66,725.00	\$3,314.00	\$56,338.00	\$3,655.00	\$62,135.00	
	ED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND NCLUDES ADJUSTMENTS, ALL DPETHS, COMPLETE IN PLACE	EA	3	\$7,328.00	\$21,984.00	\$4,112.00	\$12,336.00	\$7,090.00	\$21,270.00	
PROPOSE	ND DISPOSE OF EXISTING 8" BRICK WALL PLUG AND CONNECT D RCP STORM SEWER TO EXISTING STORM SEWER SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$451.00	\$902.00	\$322.00	\$644.00	\$1,380.00	\$2,760.00	
	AFETY SYSTEM FOR STORM SEWER, ALL SIZES, IS, COMPLETE IN PLACE	LF	3290	\$0.30	\$987.00	\$0.10	\$329.00	\$0.10	\$329.00	
	ING OF STORM SEWER LINE WORK, (TO BE USED IRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$28.00	\$14,000.00	\$1.00	\$500.00	\$0.01	\$5.00	
UNSATISFA	L COST FOR STORM SEWER BEDDING AND BACKFILL FOR ACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED GINEER), COMPLETE IN PLACE	LF	100	\$17.00	\$1,700.00	\$10.00	\$1,000.00	\$0.01	\$1.00	
	TOR SHALL TV AND CLEAN PROPOSED STORM SEWER ), COMPLETE IN PLACE	LF	3290	\$1.60	\$5,264.00	\$0.10	\$329.00	\$3.15	\$10,363.50	
ONSITE, IN	WER UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT PACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM INAL GRADING, AND RE-APPLICATION OF STRIPPINGS, EIN PLACE	LS	1	\$5,516.00	\$5,516.00	\$500.00	\$500.00	\$11,525.00	\$11,525.00	
	PECTION OF STORM SEWER, ALL SIZES, INCLUDES CLEANING IES AND DIGITAL COPY OF VIDEOS, (AS DIRECTED BY ENGINEER), E IN PLACE	LF	3290	\$1.60	\$5,264.00	\$0.10	\$329.00	\$0.01	\$32.90	
CONSTRU	DRAIN EXISTING SUBMERGED 48" RCP STORM SEWER OR CT COFFER DAM TO ACCOMMODATE CONSTRUCTION OF THE D 48" RCP STORM SEWER CONNECTION, COMPLETE IN PLACE	LS	1	\$10,143.00	\$10,143.00	\$500.00	\$500.00	\$100.00	\$100.00	
DRAINAGE FACILITIES ITEMS SUBTOTAL:					\$635,498.00		\$622,904.00		\$671,992.00	
MISCELLANEOUS ITEMS										
	ED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO NLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	11971	\$2.40	\$28,730.40	\$0.10	\$1,197.10	\$1.45	\$17,357.95	
2 CONSTRUC COMPLETE	CT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, E IN PLACE	EA	1	\$2,029.00	\$2,029.00	\$1,000.00	\$1,000.00	\$2,015.00	\$2,015.00	
3 EXTRA CE	MENT STABILIZED SAND, COMPLETE IN PLACE	CY	50	\$28.00	\$1,400.00	\$1.00	\$50.00	\$1.00	\$50.00	

1367-2913D (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LAKESIDE BAYOU SECTION 3
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53
CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS
FEBRUARY 1, 2024
LJA ENGINEERING, INC.
S. YOUNG
FEBRUARY 1, 2024

			1) BLAZEY CONSTRUCT	TION SERVICES LLC	2) PRINCIPAL SERVICES, LTD		3) TEXAS KB UTILITIES, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
4 HYDROMULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	2	\$1,690.00	\$3,380.00	\$1,000.00	\$2,000.00	\$2,015.00	\$4,030.00
5 BROADCAST SEEDING, FERTILIZING AND WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	22	\$902.00	\$19,844.00	\$500.00	\$11,000.00	\$865.00	\$19,030.00
6 STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$1,550.00	\$1,550.00	\$500.00	\$500.00	\$1,614.45	\$1,614.45
7 ALL REQUIRED TEXAS CITY CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$1,127.00	\$1,127.00	\$1.00	\$1.00	\$32,420.00	\$32,420.00
8 INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	24	\$45.00	\$1,080.00	\$10.00	\$240.00	\$40.00	\$960.00
9 CONSTRUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	EA	1	\$592.00	\$592.00	\$100.00	\$100.00	\$100.00	\$100.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$59,732.40		\$16,088.10		\$77,577.40
BIDDING SUMMARY								
SUBTOTAL WATER ITEMS				\$333,875.60		\$346,136.20		\$398,190.95
SUBTOTAL SANITARY SEWER ITEMS				\$427,174.40		\$574,546.70		\$473,239.65
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$635,498.00		\$622,904.00		\$671,992.00
SUBTOTAL MISCELLANEOUS ITEMS				\$59,732.40		\$16,088.10		\$77,577.40
TOTAL AMOUNT BASE BID				\$1,456,280.40		\$1,559,675.00		\$1,621,000.00

1367-2913D (9.2)

 Page 5 of 5
 FRN F-1386

 LJA Engineering, Inc.